Tekla Structures

REF.
anazo BILL OF MATERIAL
o | sHiPPING BILL SHOP BILL
& [NO. [ERECTIO SSY.
43 1-10% 11-10Y; 19-10Y, 2403 @ | NO. ERECTION No. SHAPE AR | LENGTH | A52%  [REMARKS| WEIGHT
1 1 1B129 BEAM SQ-2
pb39 pb38 pb98 pb99 1 W36X135 A992 32-10 3/16] 1B129 NO PAINT 4460
\ \ 2 L6X4X5/16 A36 4-2 | a4l GALV 86
: | | | | | | | 1 L3X3X1/4 A36 21-1111/16 | a56 108
Lol | | i | | 1 . 1 | Lexaxsiie A36 4138 | a75 7]
J}L:‘F: = ;;;;;;;l;;;;;;;;;@;;;;*ﬁl":ti'}'"uﬂ‘;;;;;;;;;;lg;;;;’:;;; HL,;;;;%:I:I qnt:::%;;;;;;;;:; —;;;;;;;;;;;;;;;':E::',;;;;;;::::::::::::ﬁ::;;:;: ﬂ;;;;;;;;;;;;;;;;;;;;;;;:;;;;i@ 1 | Lexaxsis 436 3103/ | a04 40
1: | : 1 v : L= = - - - - = = = - - - - - - - - - - - - e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e - 1 L4X4X5/16 A36 2-51/4 | a110 20
et et a— - — - teess === ===~~~ — — -~ — - - — - - — - - —— - —— - — - —— - —— — - —— |- - - — -~ -~~~ - - == - == - — - === - == - - - = - === -~ = - - = = - —— - = = - = = - = = = = = = = = = = = = = = 1 | Laxaxsii6 A36 2-51/4 | al11 20
L L % L L L % L L L L L 1 | PLuaxa A36 0-3 | ps9 STD RED 22 1
/ \\ \ 4 PL1/4"X2" A36 0-6 1/2 | pl44 4
p59 _ / a41 a41 9 PL1/4"X3" A36 0-3 | p203 6
\ \ 2 PL5/16"X11 1/16" A36 4-21/2 | pb37 99
144 144 144 144 1 PL5/16"X13 1/16" A36 10-0 | ph38 138
pb119 P P pb53 P P pb54 1 | PL5/16'X13 1/16" A36 2-25/8 | pb39 31
' . ' ' . . 1 PL3/8"X13 7/16" A36 3-10 | pb53 GALV 66
RE D 10 '41/2 11 '101/2 16 'O:VZ 19 '10]“/2 24 '01/2 32 '91/2 1 | pL3/g"x13 7/16" A36 8-9 | pbs4 GALV 150
1 PL5/16"X13 1/16" A36 3-91/2 | ph98 52
1 PL5/16"X13 1/16" A36 8-8 3/4 | ph99 121
33: 213/ W36X135 32 10 3/ 1 PL3/8"X13 7/16" A36 1-6 | pb119 GALV 26
- LE ( X - 16 ) 8 3/4@ A325N_TC BOLT 0-21/2 Workshop 5
7 STUD 3/4 DIA 0-5 5
A B C B C B 8 | 3/4@ A325N_TC BOLT 0-2 3/4 Site
RD 24'-5
—o 16 3/4@ A325N_TC BOLT 0-2 Site
10'-63g 11'-83jg 16'-19g 17'-113 19'-9%g 24'-0%¢6 26'-5 | 6916 28'-5 30'-5 32'-5 TOTAL WEIGHT THIS DRAWING 5479
4'-73 | 51k 11'-9146| 515 18'-103g | 51 25111146 | 515 32-719¢6
1% 3 I
N (7)3 ELlé é(ToF-{?CSng (CUTRADIUS =15) 1%, 1k PREPARE T&B FLG FOR
= 59 (N/S (MC) FULL PEN FIELD WELD
- (FUSION) WELDED PS9( )j\ ~9-p203 t NO PAINT FOR ALL WELDS
o \ /
—
oy 3 3 \ : = o T
™ S ol I B o | B I K I e e i @ ™
hj | I U ] ::iiiiiiiii7:77777ﬁfjjj:iii: - - - - - - - - - - =EZTC" -y -~ F-—-—~-—~-—~—Z~-—®=-<=-—~¢™ :;;;;;Lii
I | I I I I I I | E——
™ ™ f j j f (op) ‘ ™
hd hd hd hd ¢ hd
(90 0 [ (90]
- [
(90 QQJ — 0? | 0
™ 3 N
™ N \ ™
|
{ A v i Al
(90] % ilﬁ ~ S0
< QL\ al110 (N/S)
I / ~ i o~ GOL 2/h6(N/S)
&, ~-alll (F/S)
13460 GOL 27h6(F/S)
7% 211 371 511 6-71 8-11 971 (8) 34 DIAX0-2 12 A325N_TC
= (136x1) SLOTS IN OSL
4'-47fg 9'-07 10'-41 32436
ars (N/S) a94 (N/S) a56 (N/S) — 1 1y
" 4'-63 | 51 9-234 | 51 BI C BI CI BI (CUT RADIUS = 1)  134¢ || |11
QJ 94—
334 CUT FLANGE FLUSH BS
4 9
11 7 . 11 <
TYP
36
3he\_2"12 /Typ
3 TYP
hel” 2'-12 Wl 312 e\ 3"-12 TP e\ 312
. 12 _Z1yp TYP
N m 3hel” 3"-12 3l 3"12
= / E-SHEET REFERENCE
© /
AN N
® -3 0 | 04/16/20 ISSUED FOR FABRICATION
- z \_ 3"-12 c‘zl' (F\.I' REV.|  DATE DESCRIPTION
A36 REVISION AND ISSUE RECORD
D:
SURFACE PREPARATION
- e ALAMO
} STRUCTURAL STEEL
/ 2784 OLD DALLAS RD.
. ., WACO, TEXAS 76705
Tvp\ Y[\ 312 . . Tvp\ Y[\ 312 . . . SHOP PAINT PHONE: 254 799 2471
Wl 3"-12 | Wl 312 FAX: 254799 6227
6 16 2|5 NO PAINT
1
SECTION A _ A 6 3 5/16 PROJECT BWSH Temple-Rad.
SECTION B-B SHOP CONNECTIONS/ ELECTRODES | cusTomer _Whiting Turner
SECTION C-C
- LocaTion _Temple, TX
WELD/E70XX ARCHENG _Perkins&Will
DETAILS
FIELD CONNECTIONS| HOLES (UN.) |petaiLer_ DAP pate 02/17/2020 JOB NO. DRWG. NO.
MJC 02/17/2020
3/4 A325N_TC 13/16"  |CHECKER DATE
B oy JESSE BARNETT 32-19040 1B129




